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English
UNIT -1
Section 1
HOW DADDY PLAYED PING-PONG

“There is a time for everything” who said this words?

After few months in his childhood what little daddy has started?
What did the doctor convince little daddy at?

Why was little daddy irritated?

What is the message of the story ‘How Daddy Played Pingpong’?

Section 2
HOW | TAUGHT MY GRANDMOTHER TO READ

Why did the narrator and the other people in the village wait eagerly for
the bus?

How do we know that her grandparents’ village was very remote?
Who speaks the line: “the happiness Kashi” what does the lineshow
about the lady’s character?

Why had the grandmother not gone to school?

Why was the grandmother so upset when her grandmother went away
to attend a wedding?

Section 3
THE STORY OF FIDGETY PHILIP

What kind of boy is Philip?

What did he do with the chair?

How did his mother react?

What was a “terrible’ think to do?

Name the things that broke in the poem?
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UNIT 2
Section 1
THE STORY OF AMBER BEADS

How had Jaannie’s grandfather come to possess the beads?
Why was the amber beads precious to the speaker?

What the main idea of the story of amber beads?

What was inside the beads?

Who is the weiter of Jaannie’s amber beads?

Section 2
THE CHERRY TREE

Why was the Cherry Tree so special?

Who is the hero of the story ‘The Cherry Tree’?
What is the story Cherry Tree about?

How did Rakesh protect the Cherry Tree?

Who are the leaves of Cherry Tree?

How was the Cherry Tree destroyed?

Section 3
ON THE GRASSHOPPER AND THE CRICKET

What is the grasshopper tired out with?

Where does the grasshopper take rest?

Why does the cricket’s song sound like the grasshopper’s?
Who takes up the job of providing rhythm during winter?
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UNIT 3
Section 1
THE GIANT ROC

Who was Sinbad?
What happened when Sinbad and his companions reached the Island?
What did Sindbad get from the valley?
How did Sinbad escape from the first island and the valley. What does
this tell you about him?

Section 2

ATTILA

How did the puppy look like Attila?

Who was the only supporter of Attila in the house?
Why was Attila bought by the family?

Who was Ranga in Attila?
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Science
L-1
FOOD WHERE DOES IT COME FROM

True or False
Sprouted seeds are more nutritious
Honey bees collect nectar from flowers
Fish is an animal source of food
Some ingredients are common for different food items
Humans beings are omnivores
Fill in the Blanks:
Animals who eat egg are knownas___
Different animalseat ___ types of food.
The part of a plant which we eatisknown as__
The materials used for preparing a dish are called
We get sugar from

. Short answer questions:

Name 4 plants whose leaves we eat.
Give examples of two plants roots of which we eat as vegetables.
What are ingredients?
Name two plants that grow in water and provide us food
Name two oil giving plants.
L-2

COMPONENTS OF FOOD
Fill in the blanks.
The essential nutrients of food are , ,

are called body building materials.
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Deficiency of vitamin D causes

Over eating of fried and fatty food items causes

Pulses are a good source of

MCQ

Presence of proteins in a food item can be tested by using

a. lodine solution

b. copper sulphate solution

c. caustic soda solution and copper sulphate solution

d. iodine and copper sulphate solution.

The mineral necessary for the formation of haemoglobin.

a. Phosphorus b. calcium c. iron d. iodine
Roughage helps in

a. Digestion of food b. protection of body from diseases
c. absorption of water d. elimination of undigested food
Vitamins and minerals are known as

a. Body building food b. protective food

c. energy giving food d. bothaandc

Which is the good source of proteins and iodine?

a. Liver b. iodized salt c fish d. egg
Short answer questions.

Name the three major food groups

Why it is advisable to take iodized salt?

Why is water necessary in our food?

What are the constituents of a balanced diet?

Why do children asked to take at least one tumbler of milk daily?

-10-
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L-3
FIBRE TO FABRIC
True or false.
Silk Fibres have a rough surface
The process of removing cotton fibre from its seeds is called ginning-
Nylon is an example of synthetic fibre
Weaving of yarn makes a piece of fabric
Jute is best grown in the sandy soil.
Fill in the Blanks:
and are simple devices that are used for spinning.

Flax is a that gives natural fibres
The Jute plant is normally harvested at stage.
Cotton plants are drawn from the of the cotton plant

______isthe process used to obtain jute fibre from the stem of jute
plant.

MCQ

The thinnest strands of a fabric are called

a. yarns b. threads c. fibres d. cocoons
Which one of the following is a natural fibre

a. Nylon b. rayon c. polyester d. wool

Which one of the following is not a product of coconut fibres?

a. Ropes b. cushions cgunny bags d. mats

Unspun cotton is used

a. As absorbent b. for cleaning and mopping of the floor
c. for filling matteress  d. for making oil wicks

Removal of cotton from cotton bolls is done by

a. Hand picking b. ginning c. combing d. retting
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L-7
GETTING TO KNOW PLANTS
MCQ
1. Rose Plant is an example of ____
a. Tree b. herb c. shrub d. climber
The inner most part of a flower is known as
a. Stamen b. sepal c. pistal d. petal
Parallel venation is not found in
a. Grass b. rose c. wheat d. maize
Which one of the following is not required for the process of
photosynthesis?
a. Carbondioxide b. oxygen c. sunlight d. water
Carbondioxide is essential for the process of
a. Conduction b. transpiration c. absorption d. photosynthesis
Fill in the blanks
___venation is present in mango leaf
The loss of water from the leaves iscalled
Ovules are presentinthe
Beetroot is an example of ___
Water travels upwards in the stem through __ inside the stem .
Give examples for each
Name 2 fibrousroot
Name parts of a flower_
Name two plants with reticulate veniation
Name of two plants with parallel veniation __ |
Two types of fibrousroot_
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20

History
Lesson 1
STUDYING THE PAST
Give very short answers for the following questions.

is the study of the past
History is generally divided into ___, and
The period is the time when writing had not been invented.
The proto historic period is the time for whichwehave __ records.

An example of proto historic period is the
The time period after the invention of writing is known as
Early writings was done on
Dates in history are expressed in
has played an important role in the history of India.

The acted as a natural barrier between India and central
Asia.
The historic sources can be divided into and

sources are direct evidences.
Written records engraved on rocks, cave walls, metal pillars etc. are
called
Buildings of historic importance are called
The objects that humans made in the past are called
Handwritten records of the past in the form of books, are called
Literary sources may be divided into two types- and

Writings which deal with religion are called

. Examples of religious literature.
. Writings which are not religious are called
21.

Examples of secular literature.

-22-



© © N o g M w Do

e =
NS

The Arthashastra was writtenby

The Indika was written by

Manuscripts were usually written on

Give short answers for the following questions.

Why do we need to study the past?

How have the Himalayas helped in shaping the history of India?
How is the work of an archaeologist and a historian similar to that of a
detective?

What are monuments? What do they tell us ?

What is religious literature? Give two examples.

. Give long answers for the following questions.

Why did people first settle near river valley?
Write a short note on secular literature.
Lesson 2
EARLY HUMANS -1
Give Very short answers for the following questions.
Early humans lived a

In the early stages, humans were and nomads.

The Stone Age can be divided into ____ periods.

Old Stone Age is also called

Palaeolithic period lasted from ___ times till about
Humans used tools during Palaeolithic Period.

Middle Stone Age is also called

Mesolithic Period lasted fromabout _ till about .
Stone tools of Mesolithic period is called

New Stone age is also called

Neolithic Period lasted from about till about
The first metal used by humans.

-23-
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Chalcolithic Age means
Give short answers for the following.
Why were early humans always on the move?
What are sites? Write the names of 2 Palaeolithic, Mesolithic and
Neolithic sites.
Name the periods into which the Stone Age is divided . How were the
tools of each of these periods different from one another?
Why did early humans use flint to make tools?
Why dis early humans paint on cave walls?
How was fire useful to early humans?
Write a short note on the paintings discovered at Bhimbetka.
What are the techniques used for tool making?
Lesson 4

THE FIRST CITIES
Give One-word answers.
In the Indian sub-continent, the first cities came into being in the valley
of

The Harappa and Mohenjo-daro are now in
The Indus valley civilization is also called
The Indus valley civilization flourished roughly between
The most important sites of Indus valley civilization.
The twin capitals of the Indus valley civilization.
were used to construct buildings in Mohenjo-daro.
Most cities of Indus valley civilization were divided into.
The part of the Harappan cities on raised ground were knownas .
Citadels were also known as
The part of the city were the rulers and ruling class people lives.
The part of the Harappan cities were common people lived

-24-
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The largest building in Mohenjo-daro

The most impressive structure at Mohenjo-daro

The Great Bath was perhaps used for

Residential buildings have been found in the

The main crops of Indus valley

The overseas trade of Harappan period was perhaps carried out from

The script of the Harappa was
The Harappan cities in Gujarat
is a costal site
Significant finds of Lothal
Dholavira liesinthe _ island.
The largest Indus settlement in India
Dholavira is locally known as
____was different from other Indus cities.
Why is Dholavira different from other Indus Cities?
Dholavira was divided into
The oldest signboard was found in
Recently excavated site in Kutch region
Probable reasons for the decline of Indus valley civilization
Give Short answers for the following questions.
What is the Indus valley civilization also known as? Why?
How do we know that most Indus cities were ‘very well planned’?
How was Dholavira different from most Indus sites?
What may have happened for the civilization to decline?
Describe the extend of Indus valley civilization.
Into how many parts were most of Indus cities divided? Describe any
one part.
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Write a short note on Great Bath.

What do you know about the drainage system of Indus Valley
Civilization.

What occupations and crafts did Harappans practice?

Politics
Lesson 3
FORMS OF GOVERNMENT
Give very short answers.
The is a political system by which a country or state is

administered.

Three organs of the government:

The forms the basis on which a country or state will be
government.

Democratic and authoritarian governments are classified on the basis
of

The word democracy is derived from two Greek terms __ and

‘Demos and kratos’ together means
More than a form of government, is a way of life.
means that all adult citizens have the right to vote.

The word means absolute obedience to authority.

Under the system, the legislature and the executive are
separate.

Inthe __ form, the executive is a part of the legislature.

The Parliamentary system is characterized by the

The Presidential system is characterized by the

-26-
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In the system the head of the state is separate from the head
of the state is separate from the head of the government.

When there is only one government for the whole country it is known
asa form of government.

Ina form of government, the distribution of power is
between the central and state government.

A is a set of laws which define how a state or country is
government.

Types of constitutions-

The British constitution is a classic example of an constitution.
A is a political document.
A constitution cannot be changed or amended easily.

A constitution that can be changed or amended easily without breaking
its framework is called a constitution.

Example of rigid constitution

Example of flexible constitution

‘Universal adult franchise’ means:

Give short answers for the following questions.

What is a form of government? On what basis is a democratic or an
authoritarian government classified?

Where are military regimes mainly found? Give three examples.
Write two differences between the Parliamentary form and Presidential
system of government.

What is a constitution? List the different types of constitutions.
Why are written constitutions rigid?

What is a government? What are the functions of the government?
Which categories are denied the right to vote in most countries?
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Lesson 4
Democracy

One word questions.
Democracy means by the people.
How do people participate in the governing of the country?
All of a country have the right to vote in a democracy.
The role of the citizens is very important in a

also means that all citizens are free to express their opinion.
India follows the system of democracy.
Representative democracy means:
People who do not wish to join any political party contest election as

Elections are held inevery ___ years in our country.

Universal adult franchise means:

Democracy means that all the are free to express their opinions.
A law banning defections was passed by our parliament in

A group of parties combining to form a government is called

The Kaveri river dispute involves the states of

The Krishna river issue involves the states of

The dispute over the rivers Ravi-Beas is between

Give short answers for the following questions.

What system of government does India follows? What does it mean?
What is a party manifesto?

List 3 reasons why people do not vote.

What rights do minorities have in a democracy?

List 3 causes of water disputes.

List conditions essential for the successful working of a democratic
government.
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14.
15.
16.

How do newspapers and periodicals help people in forming their
opinion?
What is the importance of role of citizens in a democracy?
How can a voter elect the right candidate or political party?

Geography
Lesson 1
THE EARTH AND THE SOLAR SYSTEM

Give Very short answers.
A____ isthe distance travelled by the light in one year.
The stars are formed from
The distance between the heavenly bodies in the universe is measured
in

The nearest star to the earth, apart from the sun is

The family of sun is known as the

The solar system is a part of the galaxy.

The brilliant disc of the sun, that is seen from the earth, is called the

The is the largest member of the solar system.
The light from the sun takes about to reach the surface of the
earth.

The inner planets are also called
The outer planets are also called
and declared that the earth is spherical in shape.

The closest planet to the sun.

Planet which is known as Earth’s twin.

The planet known as ‘morning star’/ ‘evening star’.
Planet known as ‘red planet’.

-20-



Mars has ___ moons.

Largest planet in the solar system.
NASA describes Jupiteras

Most beautiful planet in the solar system.

. The planet with the largest number of moons.

Planets which are known as ‘Twin Giants’.

The word satellite means

The only planets which do not have any known satellite.
The satellites move around the planets from

The heavenly body which is closest to the earth.

: are small planet-like solid objects found in the solar system.

Asteroids are also known as
The main asteroid belt lies between the orbits of and

are the small pieces of rocks revolving around the sun.

. When the meteors hit the surface of the earth, they are called

Comets are huge lumpsof ___and

Groups of bright stars in the sky.

The most easily recognizable constellation isthe
Give short answers for the following questions.

Name the planets according to their increasing size.

Name the planets according to their distance from the sun.
Why do the planets do not twinkle like stars at night?
Why is the earth called the blue planet?

. Give long answers for the following questions.

Describe the phases of the moon.
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16.
17.
18.
19.
20.
21.
22.
23.
24,
25.

Lesson 3
THE MOTIONS OF THE EARTH
Give one- word answers.
The Person who first said that earth was not stationary.
The motion of the earth on its axis.
The movement of the earth around the Sun.
The direction of the earth’s rotation.
The imaginary line that passes through the center of the earth.
The inclination of the earth with respect to the plane of the earth’s orbit
The direction of the earth’s inclination .
Reason for day and night.
The time taken by the earth to complete one rotation
Another name for rotation.
The circumference of the earth at the equator.
The cause for the bulging of the earth at the equator.
The reason for the deflection of the winds and ocean currents.
The direction of the earth at the North Pole and at the Equator.
The imaginary line which separates the lighted part of the earth from
the dark one.
The diffused light before the sunrise.
Diffused light after the sunset.
Another name for dusk.
Throughout the year the length of the day and night is equal at.
The speed of the earth’s revolution.
The revolution is also called as.
The exact time taken by the earth to complete one revolution.
How many days are counted in an year for convenience?
The balance of 6hrs is computed to extra day after how many years?
This additional day is added to which month?
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Such a year is called.

The extra day in the month of February is called.

The length of the earth’s orbit.

The shape of the earth’s orbit.

The maximum distance between the sun and the earth.

The maximum distance between the sun and the earth is called.
The minimum distance between the sun and the earth.

The minimum distance between the sun and the earth is called.
The sun is at perihelion on or around.

The sun is at aphelion on or around.

The average distance between the sun and the earth.

The most important effect of the earth.

The day when the midday sun shines vertically overhead at one of the
tropics.

. The day when the midday sun shines vertically overhead at the equator.
. The day on which the length of day and night is equal throughout the

world.

. The meaning of the word equinox.

Give short answers for the following questions

What is the importance of the inclination of the earth’s axis?
Why are days longer than nights during the summer?

Why do we have a leap year?

What are the factors responsible for the change of seasons?
What are the effects of the Earth’s rotation?

How are days and nights caused?

Explain the Phenomenon of seasons with the help of a diagram.
What are the effects of Earth’s revolution?
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Mathematics
Lesson - 1
KNOWING OUR NUMBERS

Choose the correct answer:
The difference between the place value and face value of 8 in 658742 is

a)0 b) 42 c) 735 d) 7992

How many four digit numbers are there in all?

a) 1000  b) 1001 c) 9999 d) 9000

Ten millions equal to

a) 10 lakh b) 1 crore c) 10 crore d) 1 lakh
How many lakhs are there in one million?

a) 100 b) 10 c) 1000 d) none of these
The symbol M in Roman numeral statnds for

a) 100 b) 500 c) 1000 d) 50

What is the difference between the greatest and the least number that
can be written using the digits 6,2,7,4,3 each only once?

a) 50000 b) 52965 c) 52865 d) 51965

The greatest 5 digit number using the digits 4,9,0,3 is

a) 90043 b) 99340 c) 30049 d) 99430

The smallest number of 5 digits having three different digits

a) 10002 b) 21000 c) 10020 d) 20001

100 thousand is known as in Indian system

a) 1 million b) 1 lakh c) 10 lakh d) 1crore
Roman numeral for 99 is

a) IC b) XCIX c) CXIX d) LXXXXIX
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12.
13.
14.
15.
16.
17.
18.
19.
20.

1.
21.

22.

23.

24.

25.

26.

Fill in the blanks.

The numeral for the number nine crore five lakh forty one is ........
Greatest four digit number using different digits is ..........
lcrore=....... million

The smallest five digit number with five different digits is ......
The numeral for LXIV is .........

The Roman numeral for 500 is ......

........ thousands make 1 crore.

The numeral for five million four thousand three is .........

The numeral for 3,00,00,000 + 8,00,000 + 50,000 + 300 + 90 + 2 is ...

The product of the place values of two threes in 53432 is ........

Do as directed.

Arrange the following numbers in ascending and descending order
a) 9801, 25751, 38802, 15892

b) 75384, 73359, 75084, 73059

How many milligrams make one kilogram?

Write the Roman numerals for each of the following.

a) 100 b) 98 c) 47 d) 39 e) 74
Write the following in Hindu Arabic numerals.

a)M b) LXXII c) XClI d) XLIX

Write the number name of the following in Indian system of numera-
tion.

a) 82063982 b) 90725006 c) 201006190

Write the number name of each of the following in International system

of numeration.
a) 90153080 b) 25708375 c) 300500406
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27.

28.

29.

30.

3L

32.

33.

34.

35.

A brick can be painted using 75 ml of paint. How many bricks can be
painted with 10 litres of paint?

To stitch a shirt, 2m 25cm cloth is needed. Out of 40m 50cm cloth, how
many shirts can be stitched?

Medicine is packed in boxes each weighing 3kg500g. How many such
boxes can be loaded in a van which can not carry beyond 70 kg?
Divide: 48520 + 128

Multiply 6789 x 876

How many minutes are there in a non leap year?

A soap factory produces 4570 soap cakes a day. How many soap cakes
did the factory produce in 2020, if there were 64 holidays in the year?
A vessel has 4 litre and 650 ml of curd. In how many glasses, each of 25
ml capacity, can it be distributed?

Find the difference betweenthe greatest and the least number that can
be written using the digits 5, 9, 3, 0, 8 each only once.

Lesson - 2
WHOLE NUMBERS

Multiple choice questions.

The smallest whole number is

a)0 2 ¢)1 d)-1

The predecessor of 1 million is

a) 99999  b) 999999 c) 99990 d) 999990
The smallest natural number is ...........

a)0 b)y1 ¢)100 d) None of these
The valueof 0+ 9is

a)0 b1 ¢)100 d) None of these
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11.
12.
13.
14.
15.
16.
17.
18.

The multiplicative identity for whole numbers is

a)0 b)1 c)bothOand 1 d) None of these
Choose the correct statement.

a) All whole numbers are natural numbers.

b) Division is commutative for whole numbers.

¢) The natural number 1 has no predecessor.

d) The whole numbers are closed under subtraction.

The predecessor of 1 in whole number is ......

a)0 b)1 c¢)-1  d) None of these

The product of a whole number (other than zero) and its successor is

a) an even number b) an odd humber
c) divisible by 4 d) divisible by 3
Which of the following is not zero?

6-6
90x0  b) o 0 d)4+2

How many whole numbers are between 437 and 4877
a) 50 b) 49 c) 51 d) 48

Fill in the blanks.

12%x45=12%x50-12 %X .........

........ x 8975=8975 x 1243

The product of the successor and predecessor of 99 is .........
The additive identity for whole numbersis .........

The value of 270 X3+ 270 X 7 is .........

.......... is the predecessor of 20900.

The successor of 730099 is ...........

Thevalue of 85+ 0is...............
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19.
20.

The value of 2x273 %50 is.........

Are all whole numbers also natural numbers? ........

I11. Do as directed.

21.
22.
23.

24,

25.

Write the predecessor of the smallest 5-digit number.
Write the successor of the greatest 3-digit number.
How many whole numbers are there between

a) 75 and 123 b) 34 and 134 c) 45 and 95
Identify the property

a) 56 +34 =34 +56

b) 23+0=0+23=23

c) 4x(5x9)=(4%x5)%x9

d) 1x89 =89x1=89

e) 49%x(99+1)=45x99+ 45 x

Find the following using suitable properties.

a) 25X 3452 x 4

b) 234+ 387+ 113

c) 148 x 156 —148 x 56

d) 134 x99 +134

e) 625 x476x8

f) 756 x 862+ 756 x 138

g) 451 x 102

h) 999 x 256

i) 34x99

j) 126 x 1001

k) 729 x 40+ 729 x 60

[) 238 x999 +238
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26.

217.

28.

29.

30.

m) 293 x 1008 — 8 x 293

n) 345x 105

0) 1784 + 293 +516 + 507

Write down three consecutive whole numbers just preceding 84100.
Write down next three whole numbers just after 780099.

Arrange the following numbers in descending order.

78200, 380004, 9843, 85002, 99999

The digits of 7 and 5 of the number 47350 are interchanged. Find the
difference between the original number and the new number?

A whole seller supplies 52 kg of rice on first day and 18 kg of rice on
second day. If the cost of 1 kg of rice is ~50, how much money will
shopkeeper pay to wholesaler?

Lesson - 3
PLAYING WITH NUMBERS

Choose the correct answer.

The smallest prime number is ...........

a)0 byl «¢)2 d)3

Which of the following is a composite number?

a) 23 b)29 «c¢)42 d) none of these

The HCF of 25 and 125 is

a)l b) 25 c) 125 d) none of these
The largest 3 digit number which is exactly divisible by 4 is
a) 998 b) 994 c) 125 d) none of these
The LCM of 100 and 101 is

a) 10100 b) 1001 c) 10101 d) none of these
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10.

11.

12.

13.

14.

15.

16.

17.

18.
19.

What least value should be given to * so that the number 6342*1 is divis-
ible by 3?

a)0 byL «c¢)2 d)3

Which of the following numbers is divisible by 4?

a) 895650 b) 942832 C) 794342 d) 83582
Which of the following numbers is divisible by 8?

a) 93421 b) 735408 c) 954654 d) 64394
Which of the following is a prime number?

a)71 b) 81 c) 91 d) 51

Which of the following pairs is a pair of coprimes?

a) 6 and 12 b)12and14 c¢)13and15 d)11and22
Which of the following are not twin primes?

a)3,5 b) 5,7 c) 11,13 d)9, 11

The number of primes between 90 and 100 is

a)0 b) 1 c)2 d)3

Which of the following numbers is a perfect number?

a) 16 b) 6 c)8 d) 10

The HCF of two consecutive even number is

a)l b) 2 c)0 d) none of these
Which of the following numbers is divisible by 11?

a) 1111111 b) 22222222  c¢) 33333 d) 4444444
Fill in the blanks.

HCFof9and 18 is .............

LCMof6and12is .............

HCF of two prime numbers is ...........

LCM of two prime numbers is ..........
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21.
22.
23.
24.
25.
26.

1.
217.
28.
29.

30.

31.
32.
33.
34.

35.

36.
37.
38.

A number which has only two factors is called a .........
.......... is a factor of every number.

.......... is the only even prime number.

Prime factorisation of 18 is ...........

The smallest composite number is .........

Two perfect numbers are ........... and .........
LCMof8and12is ..........

Do as directed:

Give two pairs of twin primes below 15.

Write all prime numbers below 25.

Find the HCF of the following numbers.

a) 84,96 b) 170,238 c) 144, 180, 192

Find LCM of the following numbers

a) 48, 60 b) 17, 18 c) 15,30,90 d) 84, 90, 120
Find the greatest number which can divide 16, 20 and 24 exactly.
Write the smallest number that is divisible by 8,10 and 12.

Write the composite numbers between 30 and 40.

Using the divisibility test check whether the following numbers are di-

visible by
2,3,4,5,6,8,9,10and 11
a) 730456 b) 94572

Find the least number which when divided by 15, 16 and 20 leaves a
remainder of 3 in each case.

Find the greatest 4-digit number which is divisible by 12, 16 and 18.
Find the smallest 4-digit number which is divisible by 5,9 and 12.
Determine if 15480 is divisible by 24. (Using divisibility test)
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30.

40.

41.

42.

43.

44,

45.

Write the smallest 4-digit number and express it in terms of its prime
factors.

Find the greatest number of 5-digits exactly divisible by 15, 24 and 36.
The length, breadth and height of a room are 1050 cm, 750 cm and 425
am respectively. Find the length of the longest tape which can measure
the three dimensions of the room exactly.

Find the least four digit number which when divided by 20, 30, 40 and
50 leaves remainder 10 in each case.

Telegraph poles occur at equal distances of 220m along a road and heaps
of stones are put at equal distances of 300 m along the same road. The
first heap is at the foot of the first pole. How far from it along the road
is the next heap which lies at the foot of a pole.

The length of 3 rods are 7m 50 cm, 10 m 50 cm and 15 m. Find the
length of the longest tape that measure those lengths exactly.

In a morning walk, three persons step off together. Their steps measure
60cm, 70cm and 80 cm respectively. What is the miniumum distance
each should walk so that all can cover the same distance in complete
stepts?

Lesson - 4

BASIC GEOMETRICAL IDEAS
Choose the correct answer.
Acircleisa.....
a) open curve b) polygon c) closed curve
The diagonals of a quadrilateral are formed by joining
a) oppposite verices b) opposite sides
c) adjacent sides d) none of these
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3. How many diagonals does a triangle has?
a)0 b)1T «¢)2 d)3
4. The number of diameters in a circle can be
a) only one b) only two C) many d) only ten
5. The point of intersection of a pair of adjacent sides of a polygon is called
its
a) Diagonal b) Vertex  c) Adjacentangle  d) none of these
I1. Fill in the blanks.
6. The distance around a circle is called its .........
7. Arregion in the interior of a circle enclosed by an arc and two radii is

8. Iftwo lines meet at a point they are called ......
9. is the longest chord of the circle.
10. Half of acircle is called ...........

I11. Do as directed.

11. From the figure,

a) ldentify three triangles p
b) Writet the names of seven angles. i‘i
c) Write the names of six line segments. B o c

d) Which two triangles have /B as common?
12. Draw a rough sketch of a quadrilateral PQRS. State.
a) two pairs of opposite sides.
b) two pairs of opposite angles.
c) two pairs of adjacent sides.
d) two pairs of adjacent angles
e) two diagonals.
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13. Name the eight triangles shown in the figure.
14. From the figure identify g

a) the centre of the circle.
b) five radii
c) two diameters

d) apoint in the exterior

e) three points in the interior
f) asector
g) asegment

Lesson -5
UNDERSTANDING ELEMENTARY SHAPES

I.  Choose the correct answer.
1. Anangle whose measure is equal to one-fourth of a revolution is
a) acute angle b) obtuse angle c)rightangle d) straight angle
2. Which direction will you face if you start facing east and make 1% of a
revolution clockwise?
a) east b) west c) north d) south
3. What fraction of a clockwise revolution does the hour hand of a clock turn
through, when it goes from 3 to 67

1 1
a) > b) % c) T d) none of these

4. Anangle whose measure is equal to a full revolution is

a) complete angle  b) reflex angle ¢) straight angle d) obtuse angle
5. Name the polygon with 6 sides

a) pentagon b) hexagon C) octagon d) decagon
6. Acuboidhas......... edges.

a) 4 b) 6 c)8 d) 12
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10.

11.

12.

13.

14.

15.

16.

The number of faces of a cone is

a)l b) 2 c)3 d) 6

The number of edges of a triangular prismis .........

a)8 b) 9 c) 12 d) 6

Name the type of triangle APQR suchthat PQ=QR=5cmand PR =7 cm.
a) Scalene triangle b) Isosceles triangle

c) Right triangle d) Equilateral triangle

Through what angle does the hour hand of a clock turn through when it
goes from 2 to 11?

a) 270° b) 90° c) 360° d) 180°

Find the number of right angles turned through by the hour hand of a clock
when it goes from 6 to 3.

a)l b) 2 c)3 d)4
The measure of a reflex angle is
a) 180° b) <180° c) >180° d) <90°

Which of the following statement is true?

a) The opposite sides of a trapezium are parallel.

b) All the sides of a parallelogram are of equal length.

c) The diagonals of a square are perpendicular to each other

d) All the angles of a rectangle are not equal.

A rectangle whose adjacent sides are equal is called ....

a) Parallelogram b) Trapezium  c¢) Rhombus d) Square

An angle formed by the two opposite rays is called a

a) straight angle b) rightangle ¢)zeroangle  d) complete angle

Fill in the blanks.
A polygon having four sides is called .........
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18.
19.
20.

21.
22.
23.
24.
25.

1.
26.

27.

28.

If two lines are perpendicular to each other, then the angle between them is
A triangle whose all sides are unequal is called ..........

Allthe ........ of a rectangle are equal.

An angle which is greater than a straight angle but less than a complete
angleiscalleda.......... angle.

A square pyramid has ......... faces.

Acube has ......... edges.

A quadrilateral having only one pair of parallel sides is called ..........
Atriangle can have ........ right angles.

Onerightangle = ........... of a revolution.

Do as directed.

Name the type of triangle.

a) 6.5cm, 8cm, 8.5cm

b) 9cm,9cm,9cm

c) 309, 60°, 90°

d) 46°, 58°, 76°

e) AABC with /B = 90°YAB =BC =6cm

Which direction will you face if you start facing

1 . . .
a) west and make 7 of a revolution anti clock wise.

3 . .
b) north and make 7 of a revolution clockwise.

What shape is
a) abrick
b) a match box.

c) asweet laddu
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29.

30.

d) aball
e) adie
f) aroad roller

A shipsailing in a river moves towards east. If it changes to north, through

what angle does it turn?

Write the number of faces, edges and vertices of the following solids.

a) cube
b) Triangular pyramid
c) Triangular prism
d) Square Pyramid
Lesson - 6
INTEGERS
Choose the correct answer.
5 less than -2 is

a)3 b) -3 c)—7 d)7

6 more than —7 is

a)l b) -1 c) 13 d) 13

The successor of —22 is

a) —23 b) —21 c) 23 d)21
On subtracting —7 from —14 we get

a) —21 b) -7 c) —14 d) 21
On subtracting —5 from 0, we get

a) -5 b) 5 c)0 d) 50

The predecessor of —99 is

a) —98 b)-100 c) 98 d) 1000
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1.

12.

13.

14.

15.

16.

The additive inverse of 17 is

2 17 b)-17 0 d)

Which of the following numbers is to the right of —3 on number line?
a —4 b) —2 c)—12 d)-13

The number of integers between —2 and 2 is

a) 5 b) 4 c)3 d)2

Which of the following number is greater than —1?

a -2 b) —10 c)0 d) -3

Which of the following set of numbers is in descending order?
a 1,-2,1,-1

b) 0,1,2,3

c) 1,0,-1,-2

d)-3,-2,-1,0

Sum of —10,-5and 12 is

a) 27 b) -3 c)3 d)y-27

Which of the following statement is false?

a)—4>-5 b) —-4<5 c)4<-5 dy4>-5
Sum of the negative and a positive integer is

a) always negative

b) either positive or negative

c) always positive

d) zero

7 steps to the left of 4 on the number line gives

a)3 b) 11 c)-11 d)-3

Fill in the blanks.

(-8)+___ =0
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17.
18.
19.
20.
21.
22.
23.
24.
25.

1.
26.
27.

28.
29.
30.
3L
32.
33.
34.
35.

_15=(-10)
12+ (-12) =
(=9 +C-1)=___

iS neither positive nor negative.

The greatest negative integer is

Smallest 2-digit negative integeris
Sum of 5 and its additive inverseis
The smallest positive integeris
The integet 8 more than—12is

Do as directed.

Write all integers between —3 and 3.

Find the value and compare the following using <, > or = sign.

) (-6)+-9[ ] (-6)—(-9)

b) (-12) - (-12) [] (-12) + (-12)
¢) 28— (-10) [ ] (~16)— (~76)

d) (-4)+(-5)+(6) ] (-6)—(-5) (-4

Find the sum of —36, —12 and 20

Subtract —20 from —10
Subtract 10 from —50

Subtract the sum of —12 and 8 from 25

Subtract the sum of 15 and —20 from the sum of -5 and —10.
Subtract the successor of —90 from the predecessor of 100.
Find the sum of successor of —999 and the predecessor of 101.

Find the sum of
a) 576and —176
b) 500 and —80
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36.
37.

c) —315,200and—-115
d) 200, —60 and —85

Write five negative integers greater than (—10).

Find the following.

a) (=7)—8-(-23)

b) 4—(=8)+(-7)—(-8)

c) 1+(=3)+5+(-7)+9+(-11)
d) 60— (—20)— (10) + (—25)

e) (—15)+12—(-3)-16

) (D+(E)+(3)+(H4) +(-5)
g) (-212)+100-12

h) (-10)+25-35-20

i) 8—(-9)—10—(-11)

j) 15+-10+(-25)-50

*kkkhkkhkkikkkkk
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